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QUESTION 1

Which statement is CORRECT about risk management in digital organizations?

A. All the organization\\'s slaveholders should contribute to risk assessment

B. All risk management efforts should focus on assets owned by the organization

C. All risk management should start by assessing the current state

D. All risks could cause harm to the organization if they are not managed

Correct Answer: A

All the organization\\'s stakeholders should contribute to risk assessment because they have different perspectives,
insights, and interests in relation to the organization\\'s objectives, activities, and outcomes. Their involvement can help

identify, analyze, evaluate, and treat risks more effectively and comprehensively. References: ITIL 4 Leader: Digital and
IT Strategy, page 59

QUESTION 2

An organization provides services to businesses and private customers, it is now reviewing. its strategy and needs to
ensure that the strategy sufficiently addresses the external perspective. Which question BEST supports this objective?

A. How can we reduce costs?

B. How can we improve operational efficiencies?

C. How do we get to where we want to be?

D. What markets do we serve?

Correct Answer: D

What markets do we serve? is the best question to support the objective of ensuring that the strategy sufficiently
addresses the external perspective. It helps to understand the current and potential customers, segments, needs,
expectations, and preferences of the markets that the organization operates in or wants to enter. It also helps to identify

the opportunities, threats, and trends in the external environment that can affect the organization\\'s strategy.
References: ITIL 4 Leader: Digital and IT Strategy, page 7-8

QUESTION 3

Which parallel model is based on using the Income generated by an existing business model to fund a new digital
business model until can fund itself?

A. Cannibalism
B. Erosion

C. Concurrence
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D. synergism

Correct Answer: D

Synergism is a parallel model that is based on using the income generated by an existing business model to fund a new
digital business model until it can fund itself. It is a way ofbalancing the risks and rewards of innovation and disruption

by creating a synergy between the old and the new business models. References: ITIL 4 Leader: Digital and IT
Strategy, page 39

QUESTION 4

Which is the BEST description of the relationship between organization\\'s products, services, and resources?

A. An organization\\'s services ate based on the organization\\'s products

B. An organization\\'s products are required for the execution of an activity

C. An organization\\'s resources are combinations of the organization\\'s products

D. An organization\\'s resources are combinations of the organization\\'s services

Correct Answer: B

An organization\\'s products are required for the execution of an activity is the best description of the relationship
between organization\\'s products, services, and resources. A product is a configuration of an organization\\'s resources
designed to

offer value for a consumer. A service is a means of enabling value co-creation by facilitating outcomes that customers
want to achieve without specific costs and risks. A resource is anything that might help deliver an organizational
objective.

References: ITIL 4 Leader:

Digital and IT Strategy, page 11-12

QUESTION 5

Which term includes the use of hardware and software to store, retrieve, transmit, and manipulate data?

A. Digital strategy

B. Digital technology

C. Digital transformation

D. Digital business

Correct Answer: B

Digital technology includes the use of hardware and software to store, retrieve, transmit, and manipulate data. It is one
of the components of digital transformation, which is the use of digital technology to create new or modify existing

business processes, culture, and customer experiences. Digital strategy is the plan for how an organization will use
digital technology to achieve its goals and objectives. Digital business is the business model that leverages digital
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technology to create value for customers and stakeholders. References: ITIL 4 Leader: Digital and IT Strategy, page
5-6
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